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1. Match the words.

a. fat
—— 1. many

b smallest
—— 2. thin :

c. few
— 3. infront of

d. behind
— 4. round

e rectanguld’
— 5. biggest

10.

Tl Fill in the blank.

11. There are the same number of girls e i

?
12.Howmanycoins ____~~ —
13.There are fewerhorses ____

people than umbrellas.

14.Thereare

15. There are more chairsthan _____————

IV. Possible (P) or Impossible (1)?
____16.There are many balls on the ground.

____17.There are fewer apples than bananas in a basket.
____18.The cowboy is riding many horses.
____19. There are more adults than children in a car.

___20.The man has more hands than fingers.

Quantities: Quantity Relationships

Worksheet 3-03
I. Match the words,

— 1. socks a. eyes
—— 2 shin b. feet
— 3 glasses ¢. legs
—=I41ipans d. head
— 5 hat e. arms

10.
than people IIL. Fill in the blank.
more [ 11. The man is wearing a sweater.
as boys i 12. She is wearing a red Sweater.
\ables 13.The woman is wearing a red
are there 14.Heis pants.

15.The boy is wearing

I ML S

IV. Possible (P) or Impossible 1)?

—16.The man's shorts are longer than his pants.
—17.The woman is putting on a dress.
___18.The dog is wearing pants.

—_19.The woman is wearing a yellow top.

20. The baby is not wearing anything.

dress

blue pants
and white
with glasses

putting on
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